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1.  Schaum BEE prob 4.10

data for this exercise  V= 100volts , R =200.ohms, C=4.76E-6 F ,L=0.150 H

 percent overshoot =  11.6802597
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FORTRAN code

c percent overshoot  Schaum's BEE   prob 4.10

      real L

      data V,R,C,L/100.,200.,4.76E-6,0.150/

      pi=2.*asin(1.)

      q0=0.

      q1=0.

      period=2.*pi*sqrt(L*c)

      nstep=2000

      dt=2.*period/float(nstep)

      percent=0.

      kount=20

      kp=kount

      print 100,0., q0/C ,V

      do 10 i=2,nstep

      t=dt*float(i)

      q2=2.*q1-q0 +dt**2*(V- r*(q1-q0)/dt -q1/C)/L

      if(q1/c.gt.v)then

      percenti= 100.*(q1/c -V)/V

c      print*,' percenti=',percenti

      if(percenti.gt.percent)percent=percenti

      endif

      if(i.eq.kp)then

      print 100, t , q2/C  ,V

      kp=kp+ kount

      endif

      q0=q1

      q1=q2

10    continue

100   format(1x,'t,Vc=',3(4x,e11.4))

      print*,'   '

      print*,'percent overshoot =',percent

      stop

      end

